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X & B =
FiE (m) REARFFHFE) WEHE

E5| RER | HTETH4£ KF BARZOHEE;, BmES "

: - SERER | IHER | ZRAES | FH4E
BB e migpg | = SR w il (m) )

1 B BEIAT [BEE SEpHOEE | 1-1048 68,115 48,782 17 2 184 38
208 BElEr | FTHE SERIHhDHEE | 1-1042 33,151 17,319 15 3 64 36
3|BE BallEr [EHAE AR DERE | 1-1044 30,460 9,169 14 1 41 41
EE HEIET | THER SERHh D HIEE | 1-3989 29,795 17,942 8 0 114 35
5 1B EEEEEEIET SEMH O EEIR | T-4302 3411 1,463 2 1 22 35
AEE BEEr |[Z2EN  |[aEsithomE | 1-4303 2,499 775 0 0 44 33
=S BE)IE |SEE)  [SEfthokRE | 1-4305 1,384 656 0 0 25 34
8 (A= Bl |SEE)N  |2{ERhO R | 14308 16,294 10,449 4 2 128 35
9|85 BEJiET | EAE SlERHh O | T-4334 1,981 1,650 1 0 118 42
NEE H&)ier [ ERE BRI D EHE | 1-4337 6,299 2,507 1 0 38 36
11 [B& HE/IUE [ FTHR ZIERIBDEE | T-4339 11,430 6,440 2 0 73 39
12| H= HEier [ EER DA O EEIE | 1-50823 428 - 34 i 0 7 24
13|B= =G R SEFBOFRIE | I-4321 5491 4175 2 1 94 35
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] X = #f 2
mEiE(m) REAREFHU(F) _HEBE
= | RERE | AT A RF¥E |BEREROEE| EWES o
| 4% B | g elckiiil iR
el Pt A el - {1 (km2)
HEFE HE/UEr [THER LIHER 5-385-1-032 33,047 154 6 0 0.01
AEES HE/IBr | EHE AR 5-385-2-036 9,838 7 5 0 0.02
3 [BE HBaEifr [ EER TRk 5-385-2-037 19,587 - 10 0 0.10
4185 |[BSNE [LRR T H 5-385-2-038 42,133 49 8 0 0.01
5 [H& BeEr | EEE =R 5-385-2-039 26,616 450 3 0 0.07




